Minors and Cofactors of a Square Matrix

If A 1s a square matrix, then the minor M, of the entry a,; is the determinant of
the matrix obtained by deleting the ith row and jth column of A. The cofactor C;
of the entry a; is C;; = (— 1) /M,

For example, if A 1s a 3 = 3 matrix, then the minors and cofactors of a,, and a,,
are as shown below.

Minor of a,, Minor of a,,
el a J; (1
11 | 13
a2 a3 - 9 a3
M ﬂ?.'_&l' 1 M b
21 22, 22
el el o2 a «a
32 33 31 33
3y dzp iy
Delete row 2 and column 1. Delete row 2 and column 2.
Cofactor of a,, Cofactor of a,,
S _ 241 - S _ 2+ 2 S

Prepared by Eng.Maged Kamel.
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Find the solution of X
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